
SKUPINA A 

 1Z 2Z 3Z 4Z 5Z 6Z Poradie 

A1 – Nikolas Volovár 0:2 1:2 2:0 2:0 2:0 2:0 3 

A2 – Ján Viczian 0:2 2:0 2:0 0:2 2:1 0:2 4 

A3 – Artúr Benes 2:0 2:0 2:1 2:0 2:0 2:0 1 

A4 – Lukáš Šlézinger 0:2 0:2 0:2 0:2 0:2 0:2 7 

A5 – Marek Garaj 2:0 0:2 0:2 2:0 1:2 1:2 5 

A6 – Dávid Izsóf 2:0 2:1 2:0 0:2 2:0 0:2 2 

A7 – Ádam Izsóf 0:2 1:2 2:0 0:2 0:2 2:1 6 

 

Stôl 2 – A2 Viczian – A3 Benes 0:2 

Stôl 3 – A4 Šlézinger – A5 Garaj 0:2 

Stôl 2 – A6 D. Iszóf – A1 Volovár 2:0 

Stôl 2 – A3 Benes – A4 Šlézinger 2:0 

Stôl 1 - A7 Iszóf – A2 Viczian 0:2 

Stôl 3 - A1 Volovár – A2 Viczian 2:0 

Stôl 1 - A7 Iszóf  - A5 Garaj 2:1 

Stôl 3 – A6 D. Iszóf – A2 Viczian 2:0 

Stôl 1-  A7 Iszóf – A3 Benes 0:2 

Stôl 3 – A2 Viczian – A5 Garaj 2:1 

Stôl 1 - A1 Volovár – A3 Benes 1:2 

 Stôl 2 – A7 Iszóf – A4 Šlézinger 2:0 

Stôl 3 – A6 D. Iszóf – A5 Garaj 0:2 

Stôl 2 – A6 D. Iszóf – A3 Benes 2:0 

Stôl 1 – A5 Garaj – A1 Volovár 0:2 

Stôl 2 – A7 Iszóf – A6 D. Iszóf 1:2 

Stôl 1 – A2 Viczian – A3 Benes 0:2 

Stôl 3 – A3 Benes – A5 Garaj 2:0 

Stôl 2 - A1 Volovár – A4 Šlézinger 2:0 

Stôl 1 – A6 D. Iszóf – A4 Šlézinger 2:0 

Stôl 3 – A7 Iszóf – A1 Volovár 0:2 



SKUPINA B 

 1Z 2Z 3Z 4Z 5Z 6Z Poradie 

B1 – Lukáš Lenčéš 2:0 1:2 2:0 2:0 0:2 0:2 3 

B2 – Dušan Grujbár 0:2 1:2 0:2 0:2 0:2 0:2 7 

B3 – Richard Szárka 2:0 2:0 2:0 2:1 2:0 2:1 1 

B4 – Tomáš Putyera 0:2 2:1 0:2 2:0 1:2 1:2 5 

B5 – Michal Molnár 2:0 2:0 2:0 2:0 1:2 2:0 2 

B6 – Tamás Renczés 0:2 1:2 0:2 2:0 2:1 2:0 4 

B7 – Kevin Izsóf 1:2 0:2 0:2 0:2 2:1 0:2 6 

 

Stôl 3 - B1 Lenčéš – B2 Grujbár 2:0 

Stôl 1 – B3 Szárka – B4 Putyera 2:0 

Stôl 2 – B5 Molnár – B6 Renczés 2:0 

Stôl 3 –B7 Izsóf – B2 Grujbár 2:1 

Stôl 2 – B2 Grujbár – B3 Szárka 0:2 

Stôl 1 –B7 Izsóf – B3 Szárka 0:2 

Stôl 2 - B4 Putyera – B5 Molnár 0:2 

Stôl 1 B7 Izsóf – B1 Lenčéš 0:2 

Stôl 3 - B1 Lenčéš – B3 Szárka 1:2 

Stôl 1 – B7 Izsóf – B5 Molnár 0:2 

Stôl 2 - B2 Grujbár – B4 Putyera 0:2 

Stôl 2 – B7 Izsóf – B4 Putyera 2:1 

Stôl 3 - B3 Szárka – B6 Renczés 2:1 

Stôl 1 - B1 Lenčéš- B4 Putyera 1:2 

Stôl 1 - B2 Grujbár – B5 Molnár 0:2 

Stôl 3 – B7 Izsóf – B6 Renczés 0:2 

 Stôl 2 - B6 Renczés – B1 Lenčéš 0:2  

Stôl 3 - B2 Grujbár – B6 Renczés 0:2 

Stôl 1 - B3 Szárka – B5 Molnár 2:0 

Stôl 3 - B4 Putyera – B6 Renczés 1:2 

Stôl 1 - B1 Lenčéš – B5 Molnár 2:1 



O 13. miesto 

Šlézinger – Grujbár 0:2 

O 11. miesto 

Á. Izsóf – K. Izsóf 2:1 

O 9. miesto 

Putyera – Garaj 0:2  

O 7. miesto 

Renczés – Viczian 2:1 

O 5. miesto 

Lenčés – Volovár 2:1 

O 3. miesto 

Molnár – Iszóf 2:1 

O 1. miesto 

Szárka – Benes 2:1 


